, a) Rainbow

MOCK TEST 2019

NATIONAL MEANS CUM MERIT SCHOLARSHIP EXAMINATION (NMMS)

i CRECIEM (MENTAL ABILITY) (MAT)

In a certain code PARTICLE is wrmen as
USBQFMD]J, how is DOCUMENT written in
thatcode?

1) VDEPUONF
2) ‘VDPENFUQ

- 3) VDPENFOU

4) VDPEUOFN

If DIVINE is coded as AFSFKB, then
POWERFUL is coded as -

1) XLHOIVIM
2) MLTBOCRI
3) MLWBOCRI 4 oy

4) HLTBNCRI M

34 10 33 136 —
1) 408.  2) 384
3) 685 4) 654

. 04,24,7,274, 1146, 579

1) 64 2) 42
3) 83 4 18

Arrange the words in the meaningful order

b) Rain '
c) Sun d) Happy ¢) Child
1) d,e,8,bc :

2) d,b,c,ea

3) bcaed

4) b,adce

. .lf by amngmgmeletters'of the word ‘NESTIN’
thenameofagamcnsformed\Vhlt:sthehstmd '

first letter of the word so formed.
1) ES 2) NT
3 ST 4 EN

1.

faR & 3 9 PARTICLE & USBQFMDJ

mwaueﬁawwﬁvnocumma-
fa¥ fosfimir avdar?

1) VDEPUONF .
2) VDPENFUQ = ¥
3) VDPENFOU ©a

- 4 VDPEUOFN

%9 DIVINE & &% AFSFKB & 3* POWERFUL
sriven

1) XLHOJIVIM

2) MLTBOCRI

3) MLWBOCRI

'4) -HLTBNCRI

3 4 10 33 136 —0
1) 408 2) 384
3) 685 4) 654

04,24, 7,274, 114.6, 579
1) 64 2) 42

3) 83 4 18

3z fafiont § rrowar 393ty feQ

3) RIWMWW b) TN

c) B d o ) ¥er
1) d,eabe

2) d,bcea

3) b,ca¢d

4) b,ad,ce

RaT HEE ‘NESTIN® @ivet & wat gu fée faferr
eIt fat W er s e Rterd Ifengata I

HEe o »indt wi ufosT hey faasr @)
1) ES 2) NT
3) ST '4) EN



Amangoelehndueséuﬁi,tlmcnfttqﬁ:swcst 7.
and goes 5 km. Now it turns back and goes -

10km. Again it goes 10km due North. Where is
man from the starting point?

1)  Skm due East

2) Skm due North
A 3) 5km due South
~ 4) 15km due West

Noor starts from his house and walks 4kms 8.

North, then 3kms West then 8kms South. How
many Kilometres away from his home was he?
1) 6kms
2) Tkms
3) Skms
4) Skms

Akhilesh is. t,aﬂer than Shecbu.Aman is not as 9.

tall as Akhilesh but is taller than Tejinder.

Sheebu is also not as tall as Aman but is taller

than Tejinder. Who is tallest?

1) Akhilesh B

2) Sheebu
_3) Aman

4)  Tejinder
- Direction (Q. 14-15) Six faces of cube are painted in
such a way that no two adjacent faces have tl:e same
- colours, Three colours used are red, blue, green. Cube
is cut into 36 Cubes, among which 32 are smaller and
4 are big cubes. No bigger cube has red eolours..

EO How many cubes have three faces painted
N 32
2) 20
3) .16
‘ 4) 8

15. How many cubcs are painted only on two faces?
1) 20
.2 16
3) 28
) 12

ﬁufmaa'f 1ofa»ité'ua'fewfé?w& fea
Qv y@ ¥ tev four ¥ 5 fit aer hige Q0
fu y & 10 faait <t gat v geer Qg @
mfmﬂezafaw#aw&@amm
Sseed g faad?

1) sfoitywds

2) sfotQ@avdwm

3) sfaidvedw

4) 15 faritiei &=

@ ug 34 farit@aefeT s ﬁ:rmuaum?
ﬁaaﬁuﬂé&ztxm%@aw@m?m
faalt €t gat 3 3

1) 6fait

2) 7fait

3) sfait

4) 8 faait

 npitew, mgswaum,mwwm?
irg 3fires T & 14ly @ wis frgt &ur 53t
&géﬁeaé‘wmmé‘#ufiza?

1) wildw

2) Wy

3) s

4) 3fweT

f5oRu (YRS 14-15 )3 W wz @ & vl § f3s St
%, 318 w3 I3 & fen gt -8 whet 3 Sfarwt
faror 3 fr farit S W UR 3 e o Sor st Qigefen
& 36 wet g oo farwrd e 32 82 w3 4 &

'ma:n#imz*é'fahéwiémtw?mm

10 F43 wet gfasma'mfwau
1) 32
2) 20
3) 16

. 4) '8

14. fad wer afnaz%mfn»r'é‘&famfaw%n
1) 20

2) 16

3) 28

4 12 .



Direction ('}2-#§And the odd term ' m@p(ﬁ. 2 P85 feasudt @ ad|

21 3 2) 5 j D3 . 2) 5
3) 9 4) 13 9 4 13
1% D RT 2) KL |3V RT 2) KL o
3) WY 4 MO 3) WY - 4) MO v

DirectionéNr]fS?'\\ccording to specific patternfillthe  fxg3m: (TQ»"S;? ast et aretrt /e
blank spaces of letter/number series in following  mefimit fa'g wrE} ¥t aEht arat fxafez gu 3y

questions. WEAI T3 |
u abb_baa_a_bab_ab 10 abb_baa_a_bab_ab
1) abba 2) abab 1) abba 2) abab
3) ccac 4) aabb 3) ccac 4) aabb
1. TCNPNTC [ _T.CNPNTC
1) PNTCT 2) TCCIN 1) PNTCT 2) TCCTN
3) NPTCP 4) NPCPT 3) NPTCP 4) NPCPT
f6. Whichofthe following diagrams correctly represents 16. fea®faset f5 fargar foiaa ordmt, aret, avaeat
elephants, cows, animals? ' Frdteamerd?
1) 2) | .: @
@ 1 - 2)
3). 4) 2 é ; 4)
"} Ahillalwayshas............ i3 e et S o fafiont fe S ol mgat 7
1) trees 2) animals 1) NI ) waed
3) water ~4) height 3)  uyt 4) Gudt
18 How many numbers from 1 to 100 are divisible by 12, 1 3 100 Far fied wifrd virr 7 o0 1 & TIAAT A
‘C butnotdivisible by 367 1 & L e g 3 e
H 6 2y 7 o6 2 7
38 4 4 o 3 8 4 4
l q Which word cannot form from word ' l"‘% HEE INDIAPUNJAB F fya3 gue &4t wfenr A7
INDIAPUNIJAB Hae™?
1) JANAB 2) JAIDNA 1) JANAB 2) JAIDNA
3) PUBLIC 4) PIANAJ 3) PUBLIC 4) PIANAJ



2

9% The month November in a year starts with Sunday. Aarfar s fee s o e fosiges 3
which will be the lastday of that month. 2@ il il FEEI

1) Sunday D) Mondy o L N
3) Tuesday 4)  Friday . ) '
v 3) YOBed 4) gadeq
2.1 .. Choose the set of numbers from the four alternatives o o
whichis similarto set(6, 13, 22). 2-t. o3 78 9 femmyt fe9 Gu feasu gE AP 5 fie
1) (@11,18,27) 2) (16,23,30) - (6,13, 22)FmHB ¥eET IR
3) (10,16,28) @ (13,19,27) 1) (11,18,27) 2) (16,23,30)
3) (10,16,28) 4)  (13,19,27)

22 If*+ means ‘+', -’ means X, + means +and ‘x’ means
‘~'Thenthevalueof

. oy . b ¢ “1+ [ ]
12442642327 22 AT+ THISY ), - THIBY ‘X, eI

M ‘x'THIBY -’ JT3F

h 2 2) 18 36X 12+4+6+2-3=2
H 2 9 36 y 2 2 18
3 42 4) 36

2.X.. If L stands for +, M stands for —, N stands for x, P
stands for + then

14N10L42P2M8="? 7.3 AATL e HIBT +, M T HIBT—, NTTHIsT X, mI Per

, ) HIBYT+ I3t
D 153 2 26 14N 10L42P2M8=?
3) 248 4 251 1y 153 . 2) 216
| 3) 248 4) 251

2:Y If‘+’means +, + means —, —means x, x means +, then

12+6+3-2x8="? 2 A7 '+ T HIBY +, + THIBY —, ~- T HIBI X, X T

. h =2 2) 2 HIBY+IJ
3 4 4) 8 12+6+3-2x8=7
, 1) -2 2) 2
9 St I ‘cow’ is called ‘goat’, ‘goat’ is called ‘Lion’, ‘Lion 3) 4 4 8

is called ‘dog’, ‘dog’ is called ‘snake’, ‘snake’ is
called Elephant. Then which is called King of Jungle

(Forest)? 1% AT § I, TR G e, W T, I, AUE
1) Elephant 2) Snake Tt faor 7@ 37 feg eraar fan § fagr aram?
3) Goat 4) Dog - 1) Tt : 2) WY
, 3) dadt 4) g3
26 According to dictionary order which word will come
first : ,
: . ‘ 3F - _ -
1) CHAR 2) CHARM 2.6 WS reEaw wgATe fausT ree Ay 3 ufogtwr<ar
3) CHAMP 4) CHAEN 1) CHAIR 2) CHARM
3) CHAMP 4) CHAEN
l-) . According to dictionary order which word will come . .
at fourth place. ' o 7). . ¥iETE FEEAR SRS fagaT rae 98 AETS 3 wr@am?
1)  Express 2) BExtend . 1) Express 2) E)gtend
3) Expand 4) Expire 3) Expand 4)  Expire




" Directions (28=29 ) Developing relationship
between left of sign :: among words / nun:bers find

frrem (2.8-29 " fau f5as : @ ¥ Ui mEet/mivgt
faod ey wigwa faws : @ AR uR @R 3t e My

same kind of relationship among werds/numbers on  pmfyzaad mtfeasyR I=ad|
the right side of sign :: in given questions.
)8 2549 ; 74_f given qu 9@ .23:49:74:7
L4399 1A 1) 1649 2) 1223
;; 12‘:8’ 2 Efz 3) 1648 a) 4916
' Q. @t e 7
Q. Water : Thirst :: food : ? 29 1 fuger 2) 7Y
1) Stomach 2) Hunger 3) gar 4) T
3) Push 4)  Fruit
’ . ' 30. AGd3 TINU - 2091421 3@ 3t BIRA I 533 ?
30 . IfTINUis 2091421 then BIRA is 7 1) 19191 2) 11892
1) 19191 2) 11892 3) 91821 4) 29181
3) 91821 4) 29181}
/ . ' 31 F:laa' TEACHER — VGCEJG 3% 3t CHILDREN 4t
3} - FTEACHER is VGCEJGT then CHILDREN is? J<ar?
1) EJKNEGTP 2) EGKNFITP 1) EJKNEGTP 2) EGKNFITP
3) EJKNFGTO 4) EJKNFTGP 3), EJKNFGTO 4) EJKNFTGP
32 In certain language the STATEMENT is coded as 32 fat @9 978" f&'9 STATEMENT & &5 TNEMETATS
TNEMETATS. In the same Ianguage what will be the 3weﬂmfa'€POLITICAL€'WE’ﬁ‘I
code of POLITICAL? - LCATILIOP 2)  LACITILOP
1) LCATILIOP 2) -LACITILOP 3) OPILITACL 4) OILTICAL
3) OPILITACL ‘4) OILTICAL -
% 3
3 4 4 6 5 7 3 4 4 6 5 7
7 ZOY | Y 7 y Y
) 22 1) 22 2
3) 33 4 24 3) 33 4) 24
3y, 3
l 12 2 9 1 ? 1 2 9 1\(?
14 15 16l ‘14 | Y 16
) -21 2) 12 ’ 1) =21 2
3) 32 49H 22 3) 32 4) 22

A




35°

3
5| 12 |4 6
) s| 18 |2 2
3 s 2 |2
9
) 15 2) 16
3) 17 4 18
36
1) 34 2) 44
3) 54 4 24

Directions (37~ 39 "Inaschool among five teachers A
and B teach Hindi and English, C and B teach English
and Geography, D and A teach Mathematics and
Hindi. E and B teach History and Physics.

38 3
5 12 4 6
2 S 18 2 2
3 5 ? 2
9
1) 15 2) 16
3 17 4) 18

"R

NG

1) 34 2) 4
3) 54 4) 24

fagem: (371-39 ) fe'a nge fa'e O ifewrya ffd' A
w3 B I w3 #atsh w951 C w3 B widaht w3
TAB U2 35, D w2 A afzwd et ugr@R 91K

. . . 3 B fefsonag fefaamuzr @ ast
"37 . Whoamong teachers teaches maximum subject. 4 '
s D A : 2 B ' 3. fagzrmfewrua v F Fafeiug@erd?
1) A 2) B
C 49 D
3) ) 3 C 4 D
38:. More than twoteachers teach which subjects- 28 T3 fawerwimma fag2 fe g @ st
') Hindi e
2) Mathematics 2) afzz
3) Hindiand English 3) ot e
4) Hindi and Mathematics 4) fyetwIafss

39 D, B andAteach which of the following subject-

'39. D,Bu3 Afaae fewr/feiug@@as?

1) Hindi 1
2) English 2) R
3) Hindiand English 3) fdet w3 iat
4) Englishand Geography 4) WEPEI M3 FAS
/ U0. Aisbrotherof B, Aisthe sonof C, Dis C's father,how  Ljgy- A, BEFTIIA, CET¥aw 3D, Cerfugrd, BerD
BisrelatedtoD sE atfomaT 37
1) Son 2) Grandson 1) Y39 2) Uger
3) Brother 4) Grandfather 3) ¥ 4) wer



Y! . Based upon the given figure of dice which face will be

opposite to face?

1 3 3 5
1) 6 2) §
3) 2 4) 4

U2%. Six persons A, B, C, D, E, F are standing 1n a circle
facing towards centre. B is between D and C, A is

between E and C, F is to the right of D, who is

betweenAandF.
1) E 2) D
3) B 4) C

WA, How many S’s are there in the following number
sequence which are immediately preceded by 4 and

immediately followed by 6?7
735145662424563125

1) One 2) Two
3) Three 3) Four

Yy~ Davinder Ranks {5th from the top side and from the
- bottom side in a class. How many students are there

intheclass
1) 30 2y 29
3) 31 4) 32

US . In a certain code ‘467’, means ‘leaves are green’,
‘485" means ‘green is good’ and ‘639’ means ‘they

are playing’ which digit stands for ‘leaves’ in that

code?
1) 4 2) 6
3) 7 4 3

U6. Aman is facing north-west. He turns 90° in the clock
wise direction and then 135° in the anti clock wise
direction. Which direction is he facing now?

1) East 2)  West

3) North 4) South

. U7 Raghbir walks a distance of 3 km towards North, then
turns to his left and walks for 2 km. He again turns left
and walks for 3 km. At this point he turns to his left

Ly fah a1t fardt @ fa'se nighme T 1 € feudis faoar

wia J<ar?

l 1 I 3 i ’ 3 ‘ 5 ‘
1) 6 2) 5
3) 2 4) 4

SN

Y@ fonaatA,B,C,D,E, FleadaaeaedTHeue dv
feragruI Tsfa B, Dm3 CE fd9addIA Em3CE
fEgaa TIF, DT AR URIISRAMI F e foavdes
a7
1) E 2) D
3) B 4 C

u3-foris o=t (9 wa 5 fad gret ‘I Afag S far feo a5
FUfgeT 4 nr@er T w3 s fda v 6 @er 32

735145662424563125
1) fa 2) ¥
3) f3= 4) eI

"y efemg eI fe T Quad U A3 ISt TB UR § 1 5e
AEE 3 ISR A fe e gw fad fefenmadt asi
1) 30 2) 29
3) 31 4) 32

S faR I &G ‘467" &7 iaw ‘Icaves are green’ T1°485°

T mad ‘green is good’ I T ‘639’ T »aw ‘They are
playing’ ¥ ifei v f& g Leaves v g €|

1) 4 - 2) 6

3y 7 4) 3

U e fenadt §'99-van ferr e moweT a9 faor 3169
wt St gt ngATg 90° 3 W famr w3 feT 135°
W Tt FEbt & @52 forr wigwe v farr, ge B9

far farr er Ao Fa faar d?
1) yad 2) vew
3) €39 4) Ty

(7 TuwAIe 3 fa it @39 ferr o rterd, fea Qo iy
a2 fasft. AerdiIfea s ST UR HIe T 3 fa it
gour 31 fen fig I @onm@ YR UR TB yIer I w3 3




us

and walks for 3 km. How many kilometres is he from
the starting point?

1) Ikm 2) 2km
3) 3km 4 Skm

T[N 2
4\3

5

Triangle represents people in the first age group ie
40-50 years. Square represents the second age group
ie 60-70 years and Rectangle represents the third age
group ie 30-40 years. The portion which represents
all the three age groups is?

1) 2 2) 7
3) 4 4 6

Directions L) -5 ) There is a number series
following a pattern. One place is left black find out the
correct answer from the options.

ug.

58

4,7,12,19,28, ?

1) 30 2) 36

3) 39 4) 49
27,64,125,216,343, ?

1) 519 2) 512

3) 459 4) 521

«t.. 6,11,21,36, 56, ?

D 42 2) 8l

3 s1 . 4) 91
. Figure ‘x’ is hidden in which of the given four

figures?

D[R] 2|V 8

1 2 3 4

5 2 Find the mirror image of figure ‘x’

F A

fa . & 31QT @ nrdfam g 3 43 fadftea ot

gR'II?
1) 1fat. 2) 2fad
3) 3fat 4) sfait.
ug
I
T[N 2
4 \3

S

fad= 40-50 5 S ufod Qv Tear & St § waw@er
T9a1 60 3' 70 A% @ g T Tear § wan Qe T inrfes
30340 E ¢ IR QT AT Bt Feam@er 11 f3R

I T e Bat Fean QT e fow fagar
1) 2 2) 7
3 4 4) 6

foalw (4q-51 ) ¥5 fott ymat fa et &t st fio'sht
et 3, wat fI'9 AdT &1 ursh vt 795 met o3 O wre
feasut I mt @3a 87

UGs.4,7,12,19,28 2
1 30 2) 36
3 39 4) 49
g .27,64,125,216,343, ?
1) 519 2) 512
3) 459 4) 521
C1:.6,11,21,36,56, ?
1) 42 2) 81
3) s1 4) 91

RIBKRNE

x 1 2 3 4

53 . f§39 x'ereaues e yIifiw 87

(x) 1 4

a] S

(x) 1 4




l

15, Find the water image of figure ‘x’.

[/ ‘.'
'
\
&
0

(1) (2) 3 4)
55 Which figure among four alternatives will complete

S|z 0y

(x) 1 2 3 4

s

Direction (t¢-57) figures A and B are related in some
way. According to some relation replace question

mark.
Ol 2

,. Question figure
A B C D

Ol|¥
dlndlNe

1 2 3 4.

" :Questionﬁgurc

Al [>::@: ?
C D

A B
Answer figure

QOS>

m @) (3 4) -
Directions (58-. which figure among 1, 2, 3, 4 will
replace the question mark according to series?

W, | ?

.S& . Question figure

ol

Aunswer figure

118182

M @ 6 @

JY fagex eryter@=ifte sl

; A
Y y7 —\ N
Y N

(x) (1 (2) (3) )
‘% §.fe'39 x" yaraes et 9t [T Aot feasu @t sead

= \7\2 7

x) 1 2 3 4
faaew (56 - 577 ) fa'3a A w3 B &9 vy feg det
T 3 1R A AT e Y oy & wapt faoar fa'se

B ]2

T yEsfaee
A B8 Cc D ’

O
Dl 1$

%

1 2 3 4

A :[:|> [>::@: ?

A 8 (o} D
g3efass

QFO OS>

(1) @) 3) (@)
fsgdmw( . fdasStwgwafeasyl, 2,33 4
&8 favar fe'go yEa wa & wayr 3 vilar?

58 .ywsfese
W, | ?

5

€39faze

£1214]2

m @ @ @

-~

)




:
!

'54.. Question figures

olteloe Tl 2
Answerﬁgures-
m @ @ @
6@~ Question figures
; pu ?
Answer figures?
4] I |
(1) (2) (3) (4)

1) 6
3) 4

2)
4)

" 61. How many squares are there in given figures?

6. ymafasy

€39fazg

(1)
69 wsfeaa

(2)

3 @

g3afaze

<

-+

[

(1

(2)

3)

&) . e fegafeofasd waaran?

1) 6
3 4

r®

2)
4)

4)




Direction (Q. &-33) Which answer ﬂglre will

eonpletethepamnhqlaﬂonﬁgue?

- él« Question figures :

knimr(umnrgﬁzndiezonua-vﬁhmrﬁiaé.qﬁﬂffﬁaﬂ
nhrléatauaaﬁﬁﬁtifuﬂ'aaur? |

193

Ii |

(1 (2) {3) {4)

£3

D:rccﬂoué@ éfzwmtwill comein placc of question fxgen (LU-6 S ) It fogr yEst few YRS ang et

mark (?) iu the follnwing questions?

s b o1 | o2

17 | 10 13

H 2 ) B
£) 9 17

HY/AES 89 |

118 | 13| 12

17 0 | 13
6y, ——
8 7 1"
1) 16 2) 19
3 23 - 4) 21
68

1) 20
3 29 8 17



) 19 2) 29
3 78 4) 48

Direclion((;]’éﬁ}he letters given below follow a  fra@w (¢ 7-68 )Wfégaﬁ%”:?ﬁmmﬁ
difinite pattern. Find out the missing letters to  gu Sur @ wiswd 1 fer gu ur § YST aen B a6

complete this pattern. g usT qI |
61, aab...aaa...bba..... 61 aab....a88...bba ... o
C 1) abb 2) bab ) abb 2)  bab
3) aab 4) baa 3) aab 4) baa
b8 . bam....amb....m....a....ba Y S bam...amb...m...a...ba
1) mbabm 2) abmab 1) mbabm - 2) abmab
3) mabma  4) ambbm | : 3) mabma 4) ambbm

Direction (59041 '+ means '', '’ means '+' , 'x' fag@m ((61-710. ) #FT '+ TP HIBY -, 'w'?fm
o (X3 ] |
means '+' and '=' means '%', then find correct '+, 'x' € HIBH o '+ BT HEBY ' SR Ity

alternative feamu g1
9. 16+2-4+28x7 .69 16+2-4+28x7
) N 23 - 2) 32
N 23 ) 2 }
3) 36 4) 28° 3) 36 4) 28
“o- 30%x3+2+8-10 9o, 30x3+2+8-10
) 20 2) 12 1 20 . 2) 12
K) I 49 22 3) 24 4 2
. [ncertain code language. IFCOMMON=DQPQTT <« fa¥ &z gwr f¥9 COMMON & DQPQTT fafymt
then find the code of PROPER in the same code 7% 3 PROPER @ @ a7 fevu a9 o
language? - " ) QIRTVX 2) QTRTIX
1) QTRTVX 2) QTRTIX 3) QRTXJT 4) XIRTQT

3) QRTXJT 4) XIRTQT

. If ACELDNRA stands for CALENDAR, what 72
does LEGIBILE stands for?
1) ELIGIBLE 2) LEGIBLEI
3) ELIGIBEL 4) LEGIBELI

789 ACELDNRA ¥ H3®¥/&% CALENDeR
¥ 3 LEGIBILE ® Hasa/dw 377
) ELIGIBLE 2) LEGIBLEI
3) ELIGIBEL 4) LEGIBELI

73 If Rose = 9-12-8-22 ~ 73 ¥IT Rose =9-12-8-22
Then Tomy = ? | F-Tomy=? :
) 811-14-2 ) 8-11-14=2
2) 7-12-14-2 | 2) 7-12-14-2
3)  7-14-12-2 : 3 7-14-12-2 B
4 1-2-12-14 4 7-2-12-14 -

92



as

-

-

ay

.80

i
b

X
3

2%

P

Y1 Wife =43

‘Then Husband = ?
N 69 2y M
}H 38 4 70

Arrange the given words in alphabetical order and
choose the onc that comes first

) Cloud 2) Middle

3 Grunt 4)  Chain

Arrange the given words in the alphabetical order
and choose the word that comes in the second place
1) Niger 2) Narcotic
3) Ninth 4), Nemises

Jaspal ranks 17th from the top side and from the
bottom side in a class. How many students are there
in the class. .
1) 34
3) 35

33
32

2
4

. In a certain code language meaning of '678' is "good

and beautiful”. Meaning of '456' is "Educational good
‘movies” and meaning of 352 is "Movies are free".
How is ‘educational' written in that code language.
which digit stands for leaves in that code

N 6 2) 5

3)) 4 49 7

How many 4s are there in the following number

~ sequence which are inmediately preceded by 5 and

followed by 3.

734 543 123432 543 756

1) one 2) Two
3) Three 4) Four

Which one of the following figures represents the
relatioship among student, school and class.

74, AEa Wife =43

A8,

26

gr-Husband = ?

1) 69 2) 1

3 38 4 70

2 meet § ToenTET & q wigHd &9 W3 9
qaw O faosT ufad mavs g e 3

1) Cloud 2) Middle

3) Grnt 4) Chain

f#3 nuet § TWIHET & MEA'T qS w3 @v
e OF faue o Aevs '3 wr@er 31

1) Niger 2) Narcotic

3) Ninth 4) Nemises

7:;..Wafmfe€‘@uaﬁurﬁnéﬁwaﬁ

78

i F 179 mErs 31 €F g faw § 4
fefenmadt 951
) 34 ‘
) 35

fafy &= I ‘678’ &7 MTT ‘good and beautiful’
%1456 @ »@¥ ‘Educational good movies’ & W3

2) 33
4 32

- ¢35 grmdg ‘Movies are free’ 31 fam IaT fow

"29.

‘educational’ e &% ¥

1) 6 2) 5
3) 4 4 17

¥5 fofint fed faogr fdgs, Ailte, fdet w3
fsavre miardt faears sta Wia wemger 37
734 543 123 432 543 756 |

1y féw 2) ¥

3) f3& 4) wT

- go 35 fafuut foS fausr fdav fefenradt, ngs

w3 Rt fagare st mia wem@er 3

1}}) @O 2 OOO ) o i OOO

Q@ ®

r3
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How many triangles arc in the given figure 81. (&3 o fd3v fau faahut fagmt a1

1) 20 2) 4 | ) 20 ) A
3) 28 4y 32 3 28 4 32

Two postitions of a dice are given which number g3 & faret &bt € Afgfbut fThit et o3
would be at the bottom when at top is 3? fggsT W Jot I e QuT THET T 3 W

88 68

3) 2 49 6 . . 2 3) 2 ' - 4) 6
Choose the word which can be made from the letters 8. f¥2 o1& HET NATIONAL MEANS 3 U5 faftfmc
of the given word NATIONAL MEANS . fed fyog™ wae SSfomT /7 AgeT i’n
1) NATURAL 1) NATURAL
2) NORTHERN 2) NORTHERN
3) NOMINATION 3) NOMINATION
4) NORMALITY 4 NORMALITY
What is most éssential in human? sv. fﬂﬁ‘ Hﬁ’i fewds foﬂ"?ﬁ' fza‘ 3 fm@ o8
) Teeth 2) Heart . e
3) Eyes 4) Hand | 1) € 2) few
3) iyt 4) dw

Rajiv starts towards East from any point K. After - 8S' gt fan fig Ka‘yaaéxawggawm s
moving 30 meter he turn to his right and moves 10 20Hted 9B 3 TmE T »ud AR U yF 7

meter. He again turns to his right and walks 30 metre. w3 10 Hieg ¥oer 31Tt few AR U 33::2
He again turns to his right and moves 30 metre. At . ¥ wr& 30 Hie Fwer ¥ ifeg Qo i@ W

what distance and in which direction is he now from _."er 3 30 it ener Jge @O ﬁ? K fé’ﬂ

K. gt T & w3 fan femr fau T

1) atK, starting point 1) K&us, mrdfew fag 3

2) 10 metre, North N 2) 10Miew, €39

3) 20 metre, West ; 3) 20tes, fau SN
4) 20 metre, North B 4) 20 Mew, §39. RNy

4.



direction and then another 180° in the same dirce-
tion and then 270° in the anti clockwise direction
which dircction is he facing now?
l.  South 2. North-west
3. West 4.  South-west
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hal:RIN
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¢ __¢| (ooaa] 16000l (000
/‘1"\ /2”‘\& 3 3

iDi’ ection{Qo—qb)The figurc in each of the question [59eR-( Qg - ) )

\0&" A man is facing west. He turns 45° in the clockwise 86 fet fenarat e fager Yo =@ yrit 3 SoRE

gt wetnrt St fomr o3 Wit 45° @ d= F Uy
hmrném@awmgw&famé‘m’t
180° T qT I Towz fammiIfee @0 270° 2 = 3
u=t St gEbwt Tt G forr ¥ Uy famr 17

&y femaat faw fear & mond &1
1. T 2. G-ty
3. Yew 4, Hy=-Uew

g1
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allow a serics, select the figure from the given Wit Foe set st Y o9 feamut fed fexr g&:

dfernatives which would continue the series.

qu.Question figure
(p- AR % N4
A 8 ¢ D
Answer figure
AlC| ) |Aa
1 2 3 4

5

Gy (ym RgT)
AR
A 8 < D
(@5 Risw) -
AP
' 3 4



